RIEEM(AEO =G,

A O={i)

AIl'TAL

5A% %I
A%
£ 5A110-M5/5A120-M5[5A130[1-M5/5A110-06/5A120-06/5A130(1-06
BEOR ER=HR=H%R=M5 ER=HR=HFR=PT1/8
BUEBE 5.5mm’ 5.0mm”’ 12.0mm’ 9.0mm?
Cvig 0.31 0.28 0.67 0.50
BE (g) 85 140 165 85 [ 140 165
BISE 5A210-06 5A220-06 | 5A230[1-06/5A210-08/5A220-08|5A2301-08
B0 ER=HR=H%R=PT1/8 ER=H%R=PT1/4 BE%=PT1/8
BUEBE 14.0mm? 12.0mm? 16.0mm? 12.0mm?
cvig 0.78 0.67 0.89 0.67
HE (9) 185 285 365 185 285 365
BUSE 5A310-08| 5A320-08 | 5A330[]-08|5A310-10 5A320-10|5A330[1-10
BEOE ER=HR=H5R=PT1/4 HER=H%=PT3/8 Hi%=PT1/4
BREHE 30.0mm’ 18.0mm’* 36.0mm’ 21.5mm’
cvie 1.68 1.00 2.00 1.20
o 58 (9 275 | 365 505 275 | 365 505
7 W RS IERIREL 5 ST 53U SRAD
BER 5A410-15] 5A420-15 | 5A430(]-15
1/9 20 BEOR ER=HR=HR=PT1/2
=|§[ [f}e- VT ; BREEE 50.0mm’ 30.0mm’
RPs "@JE‘* cvig 2.79 1.68
B8 (9 555 | 685 735
30C, o SO o S0P, o BalEEaait 3R 3R
SQE AR SRR TNk i AO_fu AO=f RO—f | AO=F
TENE ZBR, (1840 p m i S8 R)
Eg/5T0 NERIZE
EmiFtt EREHEE 0.16~0.8MPa(21~114psi)
RSB 1.2MPa(175psi)
1. BEIBE, BEIUES, RIESH; TERE —-20~70°C
—prEa = s05 EN LA A%
2. ZNERIEE=—BPEINAEIHRE,; e 0] s
3. ¢R_MEREEEREE e S ——— -
- — - 1 &8 A RICH RS
= i BB REIE, =208 o . " R
4 PLRRRATRIT. BEEDD. BOREE. RRSOR: 5 pepnpme, prrasl, REBEERISOVGNBRME.
5. MBNLEB;
6. JEREMEENEE, BBTEE;
hATHE T
5A 2 10 08 []
DORBIKE 2% 5% QRELR HEEOE 5 B{HK
M5: M5 TRLLACHS
1. 10055
+ 10075 10. $BERE 06: 1/8"
L 20. ENBEEREZE 06: 1/8"
5A: AO_1{, 2: 200351 30C: ug'ﬁw B | O, e
RO= 5w ™ f o= 720, PTH
3. 30053 30E: —UBEREPMHRI | 08, 172" ’
: n 30P: —([UBESREPIIEHT | 10: 3/8"
4. 40035 15. 1/2"




REZEMEAEO=G, AO=11)

AIl'TAL

5A%%
AEB 518
5A110
9 _© 999
’ D | O |
® @ © ©®®
sa120

i. D | |
b6
ik %15 Fik &1 ;33 25
1 BB | 7 05 13 | BHBERE]
2 BE 8 E 14 (=S
3 K& 9 MER 15 | BREEE
4 05 10 BE 16 1R8]
5 05 1| sisRg | 17 [
6 N 12 05 18 [EE

mERYE
Sk . 5A110-M5 AUSE. 5A110-06
S =
Bt o B ~
0.5 feio 0.5
© H—" [ © —
o T~ a ——
e Fos—
02f \ 0.2f il \
B ol \ \ = R \
R i W A eSS
| 0 B 0
= 0 100 200 300 400 500 600 0 200 400 600 800 1000
AE  (L/min) mE  (L/min)
AUSE. 5A210-06 07 AUSE. 5A210-08
0.7 —— . —
] SO 0.6t b
£ 05 s e A &£ 05 —
. T . —
= T ~ = 04 - T~
0.4t . ]
0.3t 0.3
£ 02 - \ 202 - \
B o1 \ & 0.1 -
A .
& \ B it N ARARRER
g, I
0 300 600 900 1200 1500 0 400 800 1200 1600
mE  (L/min) aE  (L/min)
07 7Sk . 5A310-08 0.7 AUSE. 5A310-10
06| 0.6}t
IS \‘\\ ~ = T ™
£ 0.5 ot & 0.5ttt
S 04—l T \\ B O I
0.3 I \\ 0.3 M \
o . ]
Iy ™~ N
Y Emm— VW I R VA
g 0.1 ge 0.1
Bl \ Vi R I N A A
0 400 800 1200 1600 2000 2400 0 500 1000 1500 2000 2500 3000
mE  (L/min) AE  (L/min)
07 HSk: 5A410-15 E] 5A300RTIRIERIAE
06 : [L4A300RPIERISRE K
. s~
© 0.5
%0/1 I —
4 o
0.3 \\ \
Q
@@0.2 \
0.1 \
RNV AN AN

0 500 100015002000250030003500 4000

RE

(L/min)




REZEMEAEO=G, AO=11) AIl'TAC

5A% 7l

58RI #E
5A[]100] BRE® | A [ B[ C P [pPA[PB[PC|[PD|] «a
5A110M5 | 71 | 27 | 18 |[M5X0.8| 32 | 14 | 25 | 0 |M5X0.8
PT1/8 5A11006 | 71 | 27 | 18 | PT1/8 | 32 | 16 | 24 | 3 | PT1/8
5A21006 | 81 | 35 | 22 | PT1/8 [ 36| 18| 27 | 0 | PT1/8
] 717 717 5A21008 | 81 | 35 | 22 | PT1/4 | 36 | 21 | 265| 3 | PT1/8
= |2-Q ‘4:* T |, oR 5A31008 | 102 | 40 | 27 | PT1/4 |46.5| 22 |355| 0 | PT1/4
L \ 2-0S } 5A31010 | 102 | 40 | 27 | PT3/8 [46.5] 24 [ 345 4 | PT1/4
o |5 J /| ﬁbc 5A41015 [132.5| 50 | 34 | PT1/2 |61.5| 36 | 43.5| 4 | PT1/2
Y @ &3
< LD o | < « <« | o BX\F% QA | QB | R | RA| RB | RC| S | SA| SB | SC
o[ N = | 2 & 5A110M5 | 27 [185] 3.3 | 30 | 17 | 13 [ 33 [ 14 | 25 | 95
A < i 5A11006 | 28 | 18 | 33 | 30 | 17 | 13 | 33 | 14 | 25 | 9.5
ST 2 m*@; O 5A21006 | 36 | 18 | 33 | 38 | 17 | 17 | 43 | 20 | 26 | 105
o ] « 1 5A21008 | 36 | 18 | 33 | 38 | 17 | 17 | 43 | 20 | 26 | 105
R‘C s i oD 5A31008 | 45 | 24 | 43 | 50 | 21.5| 20 | 43 | 24 | 345|135
c . o 5A31010 | 45 | 24 | 43 | 50 | 21.5| 20 | 43 | 24 | 345/ 135
5A41016 | 63 | 30 | 43 | 72 | 255| 27 | 55 | 28 | 47.5| 17.5
5A[]20[]
2 PT1/8 BR\E® | A[ B[ C p [pPa[PB| PC [PD] Q@
5A120M5 | 78 | 27 | 18 |MbX0.8) 39 | 14 | 32 | 0 |M5X0.8
T T T 5A12006 | 78 | 27 | 18 | PT1/8 | 39 [ 16| 31 | 3 | PT1/8
L 2=a L A PP = |, or  5A22006 | 90 | 35 | 22 | PT1/8 | 45 | 18| 36 | 0 | PT1/8
A sp : 1 y 5A22008 | 90 | 35 | 22 | PT1/4 | 45 [ 21 [34.5] 3 | PT1/8
>3 a8 1 / ﬁ\f_ 5A32008 | 111 | 40 | 27 | PT1/4 |65.5| 22 | 445| 0 | PT1/4
! & s 5A32010 | 111 | 40 | 27 | PT3/8 | 65.5] 24 [ 43.6] 4 | PT1/4
< e o | 4l < < || e 5A42015 | 142 | 50 | 34 | PT1/2 | 71 | 36| 63 | 4 | PT1/2
3 A Alel
i Y . BX\F® | A B[ R [ RA[RB|[ RC| s [ sA| sB | sc
9« o o ] o 5A120M5 | 27 [ 255| 33 | 30 | 24 | 13 [ 33| 14 | 32 | 95
@ | 2 @ \ a 5A12006 | 28 | 25 | 3.3 | 30 | 24 | 13 | 33| 14 | 32 [ 95
T an 5A22006 | 36 | 27 | 3.3 | 38 | 26 | 17 | 43| 20 | 35 | 10.5
RC. s T pD 5A22008 | 36 | 27 | 3.3 | 38 | 26 | 17 | 43| 20 | 35 | 10.5
c == e 5A32008 | 45 | 33 | 4.3 | 50 | 30.5| 20 | 43 | 24 | 435|135
- B 5A32010 | 45 | 33 | 4.3 | 50 [30.5| 20 | 4.3 | 24 |43.5| 135
5A42016 | 63 | 395| 43| 72 [ 35 | 27 | 65| 28 | 57 | 17.5
5A[I30C(E\P)[]
2-PT1/8
u‘ﬂ T 1 u‘u
L l2-a L L WX\E® | A [ B| C| P | PA|PB| PC|PD] Q
‘ ! 2-05 || A=0F 5A13000M5 | 91 | 27 | 18 [M5X0.8| 52 | 14 | 45 | 0 |[M5X0.8
el N / ™ 5A1300106 | 91 | 27 | 18| PT1/8 | 52 [ 16| 44 | 3| PTI/8
/ Py /N 5A2300106 | 109 | 35 | 22 | PT1/8 | 64 | 18] 55 | 0| PT1/8
4 Il ‘ A . - < R 5A2300008 | 109 | 35 [ 22 | PT1/4 | 64 | 21 [635] 3| PT1/8
3 [P ® A o ||| & 5A3300108 | 130 | 40 | 27 | PT1/4 | 745] 22 [ 63.5] 0| PT1/4
! D i 5A3300110 | 130 | 40 | 27 | PT3/8 | 74.5| 24 | 62.5] 4 | PT1/4
@e; | o7 5A4300115 | 163 | 50 | 34 | PT1/2 | 92 | 36| 74 | 4| PT1/2
o ‘ & ‘ = . ‘ © RK\FFH |QA| QB | R | RA| RB | RC| S | SA | SB | sSC
o | & 1 5A1300IM5 | 27 [385| 33| 30 | 37 | 13 | 33| 14 | 45 | 95
| 5A130(106 | 28 | 38 | 33| 30 | 37 | 13 | 33| 14 | 45 | 95
i 4 r‘ 5A230(J06 | 36 | 46 | 3.3 | 38 | 45 | 17 | 43 | 20 | 54 | 10.5
RC \sc T rD 5A230(108 | 36 | 46 | 3.3 | 38 | 45 | 17 | 43| 20 | 54 | 105
c o RC 5A330(108 | 45 | 652 | 43 | 50 | 495| 20 | 43| 24 | 625|135
5A3300110 | 45 | 652 | 43 | 50 | 49.5| 20 | 43 | 24 | 625|135
5A430(115 | 63 | 60.5| 43 | 72 | 56 | 27 | 55| 28 | 78 | 175

A




	页 1
	页 2
	页 3

